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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2019

ECOACORO07T-EcoNoMics (CC7)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. NS T 7 AT Fers e A |
Candidates should answer in their own words AT [ACe SIFT T TS XN Vel
and adhere to the word limit as practicable. ey 3T

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fAEfeRe @-Ie 250 2tia Ted niss

(@) Show that the set S = {(x,y)lx2 +y2 <4} is a convex set.
FR1S @, OB S = {(x, y) ¢ + 57 <4} & FCSH G5

(b) Determine the nature of return to scale for the production function ¢ =10L°K .

A TS g = 10L2K Beriwee #ARESEa 24 (Return to scale) e 23 oedte |
(c) State the “complementary slackness™ theory of Linear Programming Problem.
e (Al eiiafik-a <FuRCEOIR JeEr S [ ot [ige T
(d) Why is “global optima” also “local optima™?
“ClidIeT A SRR T AT 06 & 2
(¢) What do you mean by two person zero Sum Game?
Y2 (G T& X7 Q@IS (575 =100 6 (@I 2
(f) Check whether the following input-output system satisfy the Hawkins-Simon

condition.

formERre 2o{B-SS6={5 Nrorest #3739 @ FfFoi-o1Em e vz 2= i
0-4 0-3 0-2
0-4 0-2 03
0-2 0-4 0-3

(2) Explain the nature of the time path y, =3" +1.
T 24y, =3 +1-67 &S I e

(h) What do you mean by Nash-Equilibrium in the context of game theory?
(511 ©CG T SR IS {F Q@I 2
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2. Answer any four questions from the following: 5%x4 =20
FEfERe @-crE 51afp @vim e wes
(a) Given the demand and supply functions in a competitive market as, 2+3

gf =1200—6p, and ¢f =2p,,. Find out the equilibrium price and quantity.
Explain the stability of the market.

«3f6 AfSrIMeEE G bifgnl € @IIER TNeaeei 25 IAF@E g =1200-6p,
GR g =2p,, | ST N @ s Ry T AwiEs sree el [k Tt

(b) (i) Why is the knowledge of dual important in Linear Programming analysis? 243
Al c@iaifi S tae (dual) €RES @ ey 2

(ii) Find out the dual of the following Problem.
w2 1154 02 (dual) e Fcat

Max z=5x+6x,
Subjectto  2x;+3x, <5
3x +4x, <12
X —2x,26

XIZO, X2 >0

(¢) Consider a two person zero-sum game where 4 & B are the two player and 4’s 3+2
pay-off matrix is
B, B,
A4 1
4,12 3

Determine the optimal mixed strategies for each player and the value of the game.
@3 133fe R F=F-@Te I 4 @R B 135 (EING GR 4-9F (-5F

Wiftwft 2=
By B,
A, [ 4 1 ]
a&lg 3
&b ITeTRITSR fi-F et 8 it o1y e wcat
(d) Using Kuhn-Tucker conditions solve the following maximisation problem: S
Max: U=xy
Subject to x+y<100
x<40
x,y=0
Kuhn-Tucker *$i7all G127 Fea fasfefie sdfifaead semifba smige st
Max: U=x.y
Subject to x+y<100
x<40
x,y=0
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(¢) Consider the following 2 x 2 inter-industry input coefficient matrix for Lientief

®

(@)

(b)

3111

©

0-4 0-1
0-7 0-6
are (5, 2). Determine the equilibrium prices of the two commodities if the wage
rate is Rs. 10 per unit of labour.

935 oM I& et woem o FsfeiRs 13 oy [ sl Seimi s
Wiftsfs st Fars [0'4 O"} | WA el AR A0 25 126 (5, 2) | I eler

Static Open model: |: ] . Suppose that the direct labour input coefficients

0-7 0-6
O W TG 10 TPl 28 O3 G qiod SRy v e st

What does Envelope Theorem indicate about the interpretation of the Lagrange
multipliers used in solving a utility maximising problem subject to Budget
constraint?

ST ACATF SATANS! FAEFA THIBT TN CFed @ ehiele 86 JI2F F41
% 94 Envelope ©§ O & wies fai= 353 9

Answer any fwo questions from the following:
e @-cie 726 avm Tea wie:

Write a short note on consumption possibility Locus in the Leontief Static Open
Model.

fereafbrers % & WorE (o TBIRT @A1d T2 935 ke Sis @

Suppose the demand and supply functions for a particular commodity are as
follows:

g’ =a—bp(a,b>0) and ¢°=—c+dp(c,d>0). Find the Time Path of price and
interpret the different components of the expression you have derived.

A A (I WA BifEm) @ @i Seersaay Wwamets

g =a-bp(a,b>0) 9R ¢* =—c+dp(c,d >0) | WNF FN-212 {9 S @ (o
&S expression-ba fifSw Sz wies fef sn

Using Linear Programming (LP) technique solve the following game (Zero Sum):

B, B,
A2 7
4, 6 3
SNeoa = @ oiba @RS Efors sTiaE St
A T2 7
A4, 6 3

10x2 =20

10

5#5

10
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(d) (i) Prove that Minimax < Maximin.

3111

(ii) Consider the pay off matrix (4 & B two players):
B, B,

[ 1 5
4, 6 4

Find the optimal strategies of the two players as well as the value of the game.

() e@we w9 fafam < smfEtE)
(i) FleRe - aftef® Resa @1 (4 9% B 90 (LETEe):
B, B,

A, [ 1 5
A, 6 4

T (ATERITSA I F e st e corfba s e e

4+6



